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Yds/G| Long

TD

1 & X=Z #80 bt AFEHE| WR 13.6 2
2 HitZEERE | #1 BE £ (3F4£| WR 12| 162 135 | 54.0 48 3
3 BRI KEE #87 | HEH EE [4F4%£| WR 6/ 137 22.8 | 457 49 2
4 BEFXE #89 Batk = [48F4E| WR 13| 130/ 10.0| 433 28 0
5 HitXZ #81 | ERK X [3FEXE| WR 8/ 118/ 14.8| 295 65 2
6 |JLEXFEEZFE| #91 XH F  [5F4E| WR 12 111] 93| 37.0 29 0
7 s XZE #83 | EIR AZE |3FH| TE 4 82| 205| 41.0 30 1
8 BEFXE #1 SH XK& [254%| TE 6 68/ 11.3| 34.0 21 0
9 BRIt KRE | #83 1k B [4F4%E| WR 4 52| 130 17.3 25 0
10 BEFXE #87 =R = [18F4£] WR 4 50 125 16.7 40 1
11 it XK= #88 | Ft ER (3FEH| WR 2 45| 225 | 450 36 0
12 | LB KRPEEZE | #25 FR = [4F4%| RB 3 37| 12.3| 37.0 27 0
13 BHitX=E #26 | ;EH {E—BB [3%F 4| RB 2 34/ 17.0| 17.0 28 0
14 L& X=Z #4 K BE— |44 WR 3 33/ 11.0| 33.0 11 0
15 BHitX=E #3 BB & [28F4%| WR 3 28/ 93| 140 12 0
15 | B XPEREPE| #12 | BE ZR [4F4| TE 2 28| 140 | 14.0 15 0
17 BiX=E #39 | HIR & 24| TE 2 21 105| 21.0 13 0
18 BEFXE #11 ZFH ET (3% WR 3 19 6.3| 19.0 9 0
19 BEFXE #21 =S OBER [3F4%| RB 1 13| 130/ 13.0 13 0
20 BFKREF #33 | XA B 254 RB 1 11] 11.0] 11.0 11 1
20 | EHALEPRKE | #27 | {EMT AT 244 | WR 2 11| 55| 55 6 0
22 FERE | #81 AE BE [2F4%]| WR 1 4 40| 40 4 0
23 BFKRF #23 | T KXE |4F4%£| RB 1 2l 20| 20 2 0
24 | GBRFEREZES| #83 | FHK B2 [5F4E| WR 1 1| 10| 1.0 1 0
25 E=pN=2 #23 | ER IEA |4F4%| RB 1 -2/ -20| -20 -2 0
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